-1

1/o0 do/dB

Ratio to ALEPH

10?

10

1072

1073

10

0.5

91 GeV ee */Z (Hadronlc)
= AL I N B I B B | =
— By -
= 4 T E
— W iii -
N i ii |
| m ® _
=y a3
o B -
= | %
L -
=4 =
L m ALEPH _]
=— --i3-- Herwig 7.2.1 default =
= ¢ Sherpa 2.2.9 default -
= AT T R R R T =
:l T T T T | T T T | | T T T T |:
- ! =
@ [
- e mEE ' n
B : E.E!”‘ HHHHHHI! maleis % " @ Eﬁ[ﬂﬂa@ ’lu |:’§:|—
- mE ”*’HN ¢¢—
| ’ —

| " :l:l 1 1 1 " | 1 1 1 " | " | " 1 1 " 1 1 |

0 0.1 0.2 0.3 0.4

Rivet 3.1.10, = 3.5M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


